DXF to G Code Troubleshooting

e |f you open a file and the cursor changes to a hand, only allowing you to pan the screen,
closing the app and reopening it should fix that problem.

e To get a DXF file created by Solidworks to work in the DXF to G Code app, ensure that
“automatic cutter compensation” is turned off. The app will crash any time automatic
cutter compensation is turned on.

I oxr26CoDE - X
File Export View | Options | Help

Ctrl Shift-C
Ctrl Shift-P

ayers

]
i

T % 524 AM
1 s&p 500 T oo R

e When trying to do cutter :tff?aif ?ffrﬁsjnn',un

COMPeNSalion, ifyoU Qe AN e ———

[
<

[y

error in the command line in

reading: 12
“Cannot do cutter compensation, Z Infeed depth [mm] |0.0
please check file / diamter of tool Z Final mil depth [mm] | 1.0
Not able to finish cutter Feed rate XY [mm/min} 4.0

. . Feed rate Z [ fmin] | 150.0

compensation without error -
Sklppmg it Block 0 indudes 0 Geometries, reduced to 0 Contours, used layers: []

Block 1indudes 0 Geometries, reduced to 0 Contours, used layers: []
. , . Block 2 indudes 0 Geometries, reduced to 0 Contours, used layers: []
FIrSt, ensure that youre using tool Loaded 13 entity geometries; reduced to 3 contours; used layers: [0]; number of inserts 0

. . Drawing units: millimeters
2, as this has the apprOpnate Cannot do cutter compensation, please check file [ diamter of tool

diameter of the Cutting tool given Mot able to finish cutter compensation without error - Skipping it

that the wiki states “The kerf is -
about 800 microns wide.” E O Type here to search 4 :,;‘. =



e [f it still doesn’t work, ensure that the tool is programmed into the tool library with the
appropriate dimensions. Get there with options, configuration, tools table. Check that tool
2 has a diameter of 0.80 and your configuration values in the general settings are in mm.
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e If you still aren’t getting cutter compensation, the next thing to try is a combination of a
few steps. You'll need to try going to the options, and turning “split line segments” on.
Then right click on a long line segment section towards the middle and click “set nearest
start point.” You should see the two arrows move near the point that you right clicked at.
E DHXF2GCODE - [C/Users/MFLAB USER/Downloads/Dogbone_withplates. DXF]
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If that doesn’t work when you try cutter compensation again, you may get an error stating,
incredulously, “No intersection found?!”

Loaded blocks: 3

Blodk 0 indudes 0 Geometries, reduced to 0 Contours, used layers: []

Block 1indudes 0 Geometries, reduced to 0 Contours, used layers: []

Block 2 indudes 0 Geometries, reduced to 0 Contours, used layers: []

Loaded 18 entity geometries; reduced to 3 contours; used layers: [0]; number of inserts 0
Drawing units: millimeters

Mo intersection found?!
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For this, right clicking and selecting “switch direction” seems to help.
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Now, the cutting path switches direction and “G41 Left Compensation” cuts inside the piece in
this particular case.
Since we want to outline the piece to cut it out, we need to switch to “G42 Right Compensation.”
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